
3 
 

Precálculo TEC       Prof.  Maureen Carvajal 

Ejemplo:  Halle el valor de: 
 

       

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

     

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ejemplo:  Calcule  
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EJERCICIOS 
 
Calcule  !"#!" $"#% 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Calcule   cos!"(−1) 

Calcule  !"#!" -!"# $− $
%%. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Calcule  !"#!" -!"# $#$% %. 
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Calcule  cos!" $− √%
# % 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Calcule   tan!" $tan '$( % 	 

Determine   tan(arccos(4))	 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Calcule  !"# $2 cos!" $"#%% 

 
Ejemplo adicional: 
 
Resuelva la siguiente eccuación   !"#!$ + 2!"#$ − 8 = 0 
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Resuelva la siguiente eccuación   2+,#$	!"#$ − !"#$ − 10	+,#$ + 5 = 0			,#	ℝ 
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